10%

BIC
5%x10°

2x10°

10

10 100

Relative Probability
1

107°107*1020.01 0.1

100 1000 10*

Window Half—Width (km/s)

10

rmo83 2/(412977 ~5083)=0.778
. , . , .
i BIC 383564 44 ABIC 0.000 AlogP 0. OOOO ]
3 X 317835.41 Ax 0.000 AlogP 0.0000 -
S A iy - 4 BIC
N . 1 )2
I ABIC —17059 ]
Ax? —17059
5083 5083
A | | IAC5 |
20 40 60 80
93 iterations
rm983 2/(412977 ~5083)=0.779
E ! I ! T T 3
F BIC 383564 44 ABIC 0.000 AlogP 0. OOOO 3
S Z 317835.41 Ax 0.000 ‘AlogP "0.0000 3
= 5083 | 5083 3
= A”'. """"""" T .AC5. """" E
20 40 60 80
93 iterations
Fe2 5% 0+0 km/s
rm983 BLR 3000 NLR 900 km/s
F T | T | T | | B
i 1 BLR
N | NLR
I 5083 5083 ]
A | | |AC5 |
20 40 60 80

93 iterations

kdh1 15-0ct-2021 20:39



